Homework tonight: Gear Sheet (Review 2)

Purpose

Practice particle pictures for the test tomorrow.
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Test tomorrow

What to study everything in notes and homework since
September 2.

Office Hours
I’'m here today after school until 4:30.
I’'m here at all lunches, the whole lunch.

Are elements on the test? No.




Review #1
€HS CA3mls+ry

AN
Date

Tutors! Adults! Help this young chemist by visiting
http:genest.weebly.com with any smart phone

e Our first big test is this Thursday, September 24, 2015
e For a complete review, go re-do old homework and notes from Sept 2 to Sept 21.

1. Write the measurement for each letter. A/ways make the last digit zero when the hairline hits the
mark dead center.
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Review #2
EHS CA3mIs+ry Date
Jz; Qene.ft Tutors! Adults! Help this young chemist by visiting

http:genest.weebly.com with any smart phone

I wish there were an
easyway to know
what's on the test...

1
Bustration: Bill Watterson There IS a way to know what's on the testHave you
noticed that the quizzes have large chunks of material taken directly from the worksheets you just finished?

® e 2 3

The Tuesday Homework The Friday
Quiz

« Our first big test is this Thursday, September 24, 2015
« This review sheet does not contain every word and skill we learned. It cant. Fora
complete review, go re-do old homework and notes from Sept 2 to Sept 21.
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4. When we pulled the steel wool apart, you found that the mass was unchanged. But, when

you heated the steel wool, you found that the mass increased. Explain,
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6. When the sugar dissolved in the water, you found that the mass remained unchanged. When the Alka-
Seltzer dissolved in the water, the mass of the system changed. Explain. b \)9
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Draw diagrams (at the simple particle level) of each of the materials before and after it was dissolved. &Q&
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